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SANSKRIT
PAPER—II
( LITERATURE )

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully
before attempting questions

There are EIGHT questions divided in TWO Sections.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing
at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Question Nos. 4, 5 and 6 must be answered in SANSKRIT and the remaining questions must be
answered either in SANSKRIT or in the medium authorized in the Admission Certificate. Answer written
in SANSKRIT must be in Devanagari script.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly
struck off.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly.
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| @vs—A / SECTION—A
1. SERfEHT frvamr wierT SRt goE R (150) 7 Aedram— 10%5=50
(a) ‘‘SE-GHHAFAATHIGTAT FARGREAYFE Frard Tfefonfy’’ 3fy Sremel e )
(b) ‘‘TRFEFSRER = TR —3fa Faer el wghed SRt T gfrean)
(c) “‘Sfed Ay w4 & W F T AR —IalE qgReh STt ¥ wfvean )
(d) “‘AGHRIRG WRfAFERT TRgq T AR AR g g
(e) ‘‘Ewd AW TN T FEQ’ —qReidT wgfhh e gRTEdn)

2. aifAfdemT v g sl gea— 15+15+20=50
(a) SfRE gfomfed ‘@ - frewgam|
(b) ‘‘FYwHieRT HIf Tafy Tefe TE FuEeg’’ oy welvean )
(c) g weffaehfrmit g geuaf@? i fee e

3. s ffdemt fwamon s fm— 15+15+20=50
(a) ‘‘FAY AH T T TAT TS —IAN YR ARG R
(b) ‘NRAHAEEE AT AR T |
(c) “‘Afras gfafafra: wiet: FpEEaR:’’ 3fa deme gfhoedd|

4, FIRTA] I FEOT TS FATRERT T Fda— 15+15+20=50
(a) “HUGH FHRITAT TR Ry’ —3f st ey

(b) “preaET 3 v yafdar)
AEHY Tewla AIRAY ngfeeT 11”7
HIRTET GHveaTy |

(c) *‘HErhIE: TOE: FAHRIAEG’ 3 Wgfeh Sl 3 qeieEany

HXS-B-SNKT/23 ; 2



5. APRIGR: SEFTINET T4F WG (150) TR SHATSATTA—

(a)

(b)

(c)

(d)

(e)
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TR ®S FRIATGRT TH: 1|

sregeEt i e,
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T Rsf w0 wgrenfin )

6. ST =rear TR HepaEEE AT—
(a) Fa=ag FHIPT fehfii=sdy an|

(b)

(c)

@Ay Fdsfe 9 # foaa T

T fgq wET TemEr e g9
PEARM TBIs~aeT T RaTg R ||

IS YEARTA: GERARTAT fagmst: |
THeaged Fensft & |/ 7wl
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7. sfoRaammmme: @l s — 15+15+20=50

(a) grAIfQafoeTRd AT & T
Heamat: & gwer: giferhe: g
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(b) TEITHEEHAT TIOT SO |
et o firenfiE e )

(c) TEUEH AW JEVHGGHONHOTETNG @M,  STAIodIedReTie i gee,
aﬁmﬁﬁaiﬁw mm m:, ﬁmzﬂWil

8. SfRATHT TIHT FERACIES AReAl FH— 15+15+20=50

(a) T& Ty wed ofiafid o
FT TATAEYEAT 7 9 War 4w
uﬁﬂ%ﬁzzmg“ﬁwm
o Rgeifiay e sfia: )

(b) Ty fafvr TEER: 36 JoE-

TIfTESE qRY T o

TR | T @G g agEyn |l
(c) TomHE Saggre RFmam

Fratonfy gehofEaHIET |

TAI d GAEAI SRRy

FOTHATA FFaa AT ||
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